
EAN 3276007281699

UTEC Ref 6401004012

Part Number Code Component Description Qty Material Material No

1 GB818-85-ST2.9*12 十字槽盘头自攻螺钉
Cross recessed pan head tapping screws 1 硅橡胶

Silicone Rubber
作附件

assembly

2 MQ21-50-5 120嵌墙灯玻璃
glass 1 钢化玻璃

toughened glass

3 GB2673-86 M5*14 内六角沉头螺钉
Hexagon socket countersunk head screws 4 不锈钢1Cr18Ni9

Stainless steel 1Cr18Ni9

4 MQ21-50-2 120嵌墙灯灯盖
Lamp cover 1 不锈钢1Cr18Ni9

Stainless steel 1Cr18Ni9

5 MQ21-50-6 120嵌墙灯密封圈
sealing ring 1 硅橡胶

rubber

6 MQ21-50-7 120嵌墙灯预埋筒
pre-burried cylinder 1 ABS

7 BJB26.750 BJB灯座（7W）
BJB lamp BASE (7W) 1

8
单股导线

Single wire 1 配黄蜡管φ3*40 L=60

9
单股导线

Single wire 1 配黄蜡管φ3*60 L=80

10 MQ21-50-1 120嵌墙灯灯体
lamp body 1 ADC12 表面喷塑

plastic-sprayed Surface

11 YH/T04-013 接线柱支架垫片
Terminal bracket gasket 1 ABS

12 PA10 三孔接线柱
Three-hole terminal 1 尼龙66

Nylon

13 PG9 防水护线接头
Waterproof protective wire connector 1 组合件

ASSEMBLY

14 GB818-85-M3*16 十字槽盘头螺钉
Cross recessed pan head screws 2 表面镀锌

Surface galvanizing

15 GB818-85-M4*6 十字槽盘头螺钉
Cross recessed pan head screws 1 表面镀锌

Surface galvanizing

16 GB862.1-87 4 外锯齿锁紧垫圈
External serrated lock washer 1 表面镀锌

Surface galvanizing

17 RV-300/500 1*0.75mm
黄绿硅胶线带φ4铜片接头

Yellow-green silicone cable with φ4 copper
connector

1 L=100

18 MQ21-50-4 120嵌墙灯7W节能灯支架
lamp support bracket 1 冷轧钢板

cold-rolling sheet steel
表面镀锌

Surface galvanizing

19 GB818-85-M4*8 十字槽盘头螺钉
Cross recessed pan head screws 2 表面镀锌

Surface galvanizing

20 GB818-85-M3*4 十字槽盘头螺钉
Cross recessed pan head screws 4 表面镀锌

Surface galvanizing

21
S3内六角扳手

S3 Allen wrench 4 作附件
assembly


